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(b) Work out an estimate for

32.7x4.1
19.28
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(b) Work out an estimate for

32.7x4.1
19.28
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12 (a) Work out.

Give your answers in standard form.

(i) 3x10*+2.7x10

(i) 5x10°x7x10°

(b) Estimate.

0.621x7.94
0.334




Created by W Neill

12 (a) Work out.
Give your answers in standard form.

(i) 3x10*+2.7x10
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0.334
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(a) (i) Byrounding each number correct to 1 significant figure, estimate the value of the following.
Show all your working.

12.3 +7.92
9.6 x0.625

(ii) Work out.

123+ 752
9.6 x0.625

Give your answer correct to 1 decimal place.
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(a) (i) Byrounding each number correct to 1 significant figure, estimate the value of the following.
Show all your working.

12.3+7.92

360625 O + % ﬁ

o ok~ " =5

(ii) Work out.

123+ 752
9.6 x0.625

Give your answer correct to 1 decimal place.

574
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(b) Ruth buys 19 identical tickets for £280.25.

Estimate the cost of one ticket.
Show your working.
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0

(b) Ruth buys 19 identical tickets for £280.25.

Estimate the cost of one ticket.
Show your working.
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(c) Estimate the value of

23.1x3.9
8.12
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(c) value of

23.1x3.9
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326.8 x(6.94 — 3.4)

59.4

19 Asha worked out

V7% She got an answer of 19.5, correct to 3 significant figures.

Write each number correct to 1 significant figure to decide if Asha’s answer is reasonable.

----------------------------------------------------------------------------------------------------------------------------------------------------------
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326.8 x(6.94 — 3.4)

59.4

19 Asha worked out

P
N7 She got an answer of 19.5, correct to 3 significant figures.

Write each number correct to 1 significant figure to decide if Asha’s answer is reasonable.

___399 x(7-—-——%> _ QO

5O
20 s close JCo (95" SO fjk’s S Aine
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(b) By writing each number correct to 1 significant figure, find an estimate for this calculation.

NZ28 22.1 % 37
1.9
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(b) By writing each number correct to 1 significant figure, find an estimate for this calculation.

NZ28 22.1x 37

s 20 x 4O OO
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326.8 x(6.94 — 3.4)

59.4

Asha worked out

She got an answer of 19.5, correct to 3 significant figures.

Write each number correct to 1 significant figure to decide if Asha’s answer is reasonable.

----------------------------------------------------------------------------------------------------------------------------------------------------------
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326.8 x(6.94 — 3.4)

59.4

g Asha worked out

B
N7 She got an answer of 19.5, correct to 3 significant figures.

Write each number correct to 1 significant figure to decide if Asha’s answer is reasonable.

___399 x(7-—-——%> _ QO

5O
20 s close JCo (95" SO fjk’s S Aine
7[/

----------------------------------------------------------------------------------------------------------------------------------------------------------
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By writing each number correct to 1 significant figure, find an estimate for this calculation.

N28 606.3 x 0.312
19.93
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2 By writing each number correct to 1 significant figure, find an estimate for this calculation.

N28 606.3 x 0.312 £00 X O3

19.93 A .
600 4 O% - OO

el =8O
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12 Mel drives a bus 39 weeks 1n a year.

She drives the bus an average of 298 miles each week.

(a) Work out an estimate for the total number of miles Mel drives the bus in one year.

...................................................... miles

(b) Is your answer to part (a) an underestimate or an overestimate?
You must give a reason for your answer.
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12 Mel drives a bus 39 weeks 1n a year.

She drives the bus an average of 298 miles each week.

(a) Work out an estimate for the total number of miles Mel drives the bus in one year.

8ISk

300m"es % QO weel's

(b) Is your answer to part (a) an underestimate or an overestimate?
You must give a reason for your answer.
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28 Cars are made 1n a factory for 24 hours every day.

N28 [ the factory a car 1s made every 209 seconds.
R26

.a) Work out an estimate for the number of cars made 1n the factory in one year.
You must show how you get your answer.

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

(1)
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28 Cars are made 1n a factory for 24 hours every day.

700
N28 [n the factory a car is made every 209 seconds.

R26 rowd _ _
.a) Work out r the number of cars made in the factory in one year.
You must show how you get your answer.

Sec in a da )
%y % b0 xbO Doy~ B6497 1 Lo ¢

s
Q,u luu < (60000

220 = L9 cars i
ﬁ’u’ﬂ %bl«oOsec 432 car

NG o\Q3 : dqj - 365 _________________ 160 OOO

(b) Is your answer to part (a) an underestimate or an overestimate? (00 000 ~ 200 om_?/

Give a reason for yvour answer. ( {_ COJ 5 B
: &Hwéf as | rounded
(32 ¢cars chown

% 365 dsys op 7
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16 Berenika wants to buy 35 T-shirts.

Each T-shirt costs £5.80
Berenika does the calculation 40 x 6 = 240 to estimate the cost of 35 T-shirts.

(a) Explain how Berenika’s calculation shows the actual cost will be less than £240
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16 Berenika wants to buy 35 T-shirts.

Each T-shirt costs £5.80
Berenika does the calculation 40 x 6 = 240 to estimate the cost of 35 T-shirts.

(a) Explain how Berenika’s calculation shows the actual cost will be less than £240

LOX b = 260
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20 Ami and Josh use a calculator to work out

Ami’s answer 1s 27.1115
Josh’s answer 1s 271.115

One of these answers 1s correct.

Use approximations to find out which answer is correct.

(Total for Question 20 is 3 marks)
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20 Ami and Josh use a calculator to work out -
4.08° +5.3

Ami’s answer is 27.1115_
Josh’s answer 1s 271.115

One of these answers 1s correct. 6 OO
Loo

Use approximations to find out which answer is correct. —

/ 2 2
g S
o b+ S =2

.--"'"'.__

27‘\&3 IS CloSE’f to ™

‘ g - 20
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(Total for Question 20 is 3 marks)
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22 A cycle race across America is 3069.25 miles in length.

Juan knows his average speed for his previous races is 15.12 miles per hour.
For the next race across America he will cycle for 8 hours per day.

(a) Estimate how many days Juan will take to complete the race.
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A cycle race across America 1s 3069.25 miles in length.

2000 miles (Smides

Juan knows his average speed for his previous races is 15.12 miles per hour.
For the next race across America he will cycle for 8 hours per day.

(a) Estimate how many days Juan will take to complete the race.

“van i one dqj 2) lgm:\és X & hes
¥ \Q\O m'lleS
200 O;ZS
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Juan trains for the race.
The average speed he can cycle at increases.
It 1s now 16.27 miles per hour.

(b) How does this affect your answer to part (a)?
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Juan trains for the race.
The average speed he can cycle at increases.
It 1s now 16.27 miles per hour.

(b) How does this affect your answer to part (a)?
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24 A plane travels at a speed of 213 muiles per hour.

(a) Work out an estimate for the number of seconds the plane takes to travel 1 mile.

N28
R20

______________________________________________________ seconds

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.
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24 A plane travels at a speed of 213 miles per hour. ‘E
| . O
(a) Work out an estimate for the number of seconds the plane takes to travel 1 mile. 60 X
1 seconds
N28

(St QOOmu\es = Hﬂfs 53600
R20

D00 miles = EO min
% ;"ZOO QOOMJCS = 2600 S@CGACQ_SL) =200
2 & ,%/ = rg ‘ milC {g seconds

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

ackl  23mles = Rpoosec
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13 (a)

N50

13 (b)

N28
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18 953 x 437

Use your calculator to work out the exact value of 11

[1 mark]

Answer

Use approximations to 1 significant figure to check if your answer to part (a) is sensible.
[3 marks]



13 (a)

N50

13 (b)

N28

Use your calculator to work out the exact value of

Answer

Video created by W Neill

18 953 x 437

1
[1 mark]

752 as,

Use approximations to 1 significant figure to check if your answer to part (a) is sensible.

20,000 xLOO

[0

YCS, [‘[75 not { G

awey So sens,ble.

[3 marks]

‘qelolelelol

®

KO0,006
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14 (a) Use your calculator to work out 9.952x 298
Give your answer as a decimal.
NS0 Write down your full calculator display.
[1 mark]
Answer
14 (b) Is your answer to part (a) sensible?
Use approximations to decide.
NZ28 _
You must show your working.
[3 marks]

Tick a box.

Sensible Not sensible
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14 (a) Use your calculator to work out §.952 x 29.8
Give your answer as a decimal.
NS0 Write down your full calculator display.
[1 mark]
o LAS0 . 2724S
14 (b) Is your answer to part (a) sensible?

Usto decide. — |SL
N28 i — ) L 01
ou must snow your Wor Ing. K % 30
[3 marks]

Tick a box.

et

\/ Sensible Not sensible
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18 (b) Assume

the 240 cows produce milk for 10 months each year

N28

each cow produces an average of 25 litres of milk per day.

Estimate the total milk production, in litres, of the 240 cows in one year.
You must show your working.
[4 marks]

Answer litres
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18 (b) Assume

the 240 cows produce milk for 10 months each year

Nz8 each cow produces an average of 25 litres of milk per day.
e total milk production, in litres, of the 240 cows in one year.
You must show your working.
P@’ O{qﬁ pef ronkh (_SO Olcijs) [O man@’[\“ marks]
= D

20 x2S fires \ 6090 X 30 O

éOOO {,z’l;‘r;s {8 OOOO | bres
po

Answer k%oq)o Q litres
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12 Use approximations to 1 significant figure to estimate the value of

2
N28 0.526 x 39.6
v97.65

You must show your working.

[3 marks]

Answer
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12 Use approximations to 1 significant figure to estimate the value of
0.526 x 39.6° b <
N28 . X @Y. _
V97.65 O S X L\'O [‘YO 5
You must show your working. \ | [O & L&O)Z L‘(
[3 marks]
= |60
OSx 1600 600
oo = (O

- <00
b SO0

|0

Answer g O \/
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4 Circle the number that is closest in value to =

0.0195
N28 [1 mark]
N31

5 50 500 5000



N28
N31

Circle the number that is closest in value to

Video created by W Neill

[1 mark]



16 Circle the number that is closest to the value of 29°
[1 mark]

N28 27 000 90 2700 9000



16 Circle the number that is closest to the value of  29°
[1 mark]

NZ28 27 000 90 2700 9000

3
A0 .. B0 X30x30

22000
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13 Work out 4+3x5-1

Circle your answer.
N29 [1 mark]

16 28 34

e +3xS —|
L+ 15 - |



